
	CE 170 (Fall 04)   Class 06
	Th
	9 / 16 / 04


QUIZ – Th Sept 23
Coverage:  From beginning of class through the alkalinity lab.  Emphasis is on concepts; little or no mathematics.
Class Activities

D&M 2-33 and 2-34
Homework – Due Th Sept 23
JJ 6.1  Download the chemical equilibrium demo spreadsheet.  For the 4 component system, how much A must you add at t=20 so that the concentration of B is less than 10 at equilibrium.  Use the t=0 concentrations currently in the program (100, 67, 33, 0).  Can you ever force B to a concentration of 0?  Explain why or why not.
JJ 6.2  Suppose you want to remove a dissolved organic material in an activated carbon column.  Experiments show that the Freundlich isotherm applies with K=0.27 and 1/n=0.53 for concentrations measured in g/L.  The influent concentration of the undesirable substance is 10 (g/L.

a.  How much organic compound could a gram of carbon adsorb if it was in equilibrium with the influent concentration?  Answer:  6.045x10-4 g/g

b.  Using your answer from part a, how much carbon would you need to treat a million liters of water?  Answer:  16.5 kg

D&M 2-58

D&M 2-59

JJ6.3   Groundwater in Leadbottom, New Mexico initially contains 1.800 mg/L of lead (as Pb2+) with a pH of 6.7.   To what value must the pH be raised to precipitate (as Pb(OH)2) all but 0.005 mg/L of the lead?  The temperature of the water is 25(C.  Answer: 7.88.  (This is a direct take-off from D&M 2-26, but is more interesting because it is more realistic.)

D&M 2-27

D&M 2-28  Answer:  yes (but justify why)
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